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Chapter 1
BASIC CONCEPTS

Attempt wise Distribution

(a)

(b)

(c)
(d)

Ans: (a)

(a)

Attem | May' Nov' | May' Nov' Nov' Jan' | Jul' | Dec' | May' | NoV' May' | NoV'
pts 18 18 19 19 20 21 21 21 22 22 23 23
MCQ

Q9, Q5, Q10, Q8, Q7, Q4,
MTP Q11 Q15 | Q14 Q12 Q13 | Q6 Q2
Q16,Q
RTP 18 Q3 Q17 Q1
Q&A
Q7,
Q8,
MTP Q9 Q11 Q10
Q14, Q1,
PYP Q17 Q4 Q2 Q3 Q15
RTP Q12 Q6 Q13 Q5 Q16
Section A

MULTIPLE CHOICE QUESTIONS (MCQS)

1. Mr. A has taken two ULIPs. ULIP “X” is issued on 1.1.2023 and ULIP “Y” on
1.5.2024. The sum assured of ULIP “X” and ULIP “Y” is ¥ 30 lakhs and X 40 lakhs,
respectively. The annual premium paid by Mr. A during the P.Y. 2023-24 is ¥ 3
lakhs and ¥ 4 lakhs, respectively. What would be the taxability of the consideration
received by Mr. A on maturity of both the ULIPs?

Consideration received on the maturity of ULIP “X” would be exempt u/s 10(10D)
while the profits and gains from receipt of consideration on the maturity of ULIP
“Y” would be taxable.

Consideration received on the maturity of ULIP “Y” would be exempt u/s 10(10D)
while the profits and gains from receipt of consideration on the maturity of ULIP
“X” would be taxable.

Consideration received on the maturity of both ULIP “X” and ULIP “Y” would be
exempt u/s 10(10D)

The profits and gains from receipt of consideration on the maturity of both ULIP
“X” and ULIP “Y” would be taxable. (RTP May ’22)

2. Mr. Rishabh, aged 65 years and a resident in India, has a total income of °
4,50,00,000, comprising long term capital gain taxable under section 112 of °
85,00,000, long term capital gain taxable under section 112A of * 75,00,000 and
other income of * 2,90,00,000. What would be his tax liability for A.Y. 2024 -25.
Assume that Mr. Rishabh has opted for the provisions of section 115BAC. (RTP
May ’23, MTP 2 Marks Sep ’23)

*1,41,40,750

Crack your CA CS CMA Exams in 1 Attempt -Join CA Mentoring Program if you are unable to manage/focus on your studies.
Batch 1: Working Students (Job) Batch 2: Doing Classes Batch 3: Full time available for Studies Batch 4: Married Students
Visit CAmentoringprogram.org | WhatsApp +91 7890770777 | Telegram https://t.me/caraviagarwaloriginal

all subiects free Question Bank

Pa£e6



https://camentoringprogram.org/
https://api.whatsapp.com/send/?phone=917890770777&text&type=phone_number&app_absent=0
https://t.me/caraviagarwaloriginal

Dr. CA Ravi Agarwal's CA Inter Taxation Compiler 6.0 Score 70+ in Taxation

Paper 3 - Taxation

(b) ° 1,38,86,990
(¢ " 1,38,84,390

(d °1,39,81,240
Ans: (b} (As per amendment in the tax structure as per 115BAC the answer will be none
of them it is Rs 1,38,50,200)

3. During the P.Y.2023-24, Mr. Ranjit has short-term capital gains of ¥ 95 lakhs
taxable under section 111A, long-term capital gains of ¥ 110 lakhs taxable under
section 112A and business income of ¥ 90 lakhs. Which of the following statements
is correct?

(a) Surcharge@25% is leviable on income-tax computed on total income of ¥ 2.95
crore, since total income exceeds X 2 crore.

(b) Surcharge@15% is leviable on income-tax computed on total income of X 2.95
crore.

(c) Surcharge@15% is leviable in respect of income-tax computed on capital gains of
% 2.05 crore; in respect of business income, surcharge is leviable@25% on income-
tax, since total income exceeds X 2 crore.

(d) Surcharge@15% is leviable in respect of income-tax computed on capital gains of
% 2.05 crore; surcharge@10% is leviable on income-tax computed on business
income, since the same exceeds % 50 lakhs but is less than % 1 crore. (RTP Nov
’19)

Ans: (b)

4. Income derived from farm building situated in the immediate vicinity of an
agricultural land (not assessed to land revenue) would be treated as agricultural
income if such land is situated in -

(a) an area at a distance of 3 kms from the local limits of a municipality and has
a population of 80,000 as per last census

() an area within 1.5 kms from the local limits of a municipality and has a
population of 12,000 as per last census

() an area within 2 kms from the local limits of a municipality and has a
population of 11,00,000 as per last census

(d an area within 8 kms from the local limits of a municipality and has a
population of 10,50,000 as per last census (MTP 1 Mark March ‘23)

Ans: (a)

5. Which of the following incomes are exempt incomes as per the provisions of
Income-tax Act, 1961°?

(i) Allowance paid by Government to a citizen of India for rendering services
outside India

(i) Death-cum-retirement gratuity received by a government employee

(ili) Any sum received under a life insurance policy taken on 01.05.2016, if the
premium payable for any of the years exceeds 10% of the actual capital
sum assured.

(v) Any payment from National Pension System Trust to an employee on
account of closure of his NPS account.

(a) (I), (i), (iii), (iv)

(b) (D) & (i)
(c) (D), (ii) & (iv)
(d) (i) & (iv) (MTP 1 Mark, Oct’19)
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Ans: (b)

6. The Gupta HUF in Maharashtra comprises of Mr. Harsh Gupta, his wife Mrs. Nidhi
Gupta, his son Mr. Deepak Gupta, his daughter-in-law Mrs. Deepti Gupta, his
daughter Miss Preeti Gupta. Which of the members of the HUF are eligible for
coparcenary rights?

(a) Only Mr. Harsh Gupta and Mr. Deepak Gupta
(b) Only Mr. Harsh Gupta, Mr. Deepak Gupta and Miss Preeti Gupta
() Only Mr. Harsh Gupta, Mr. Deepak Gupta, Mrs. Nidhi Gupta and Mrs. Deepti
Gupta
(d) All the members are co-parceners (MTP 1 Mark March ‘23)
Ans: (b)

7. During the P.Y.2023-24, Mr. Rohan has ¥ 80 lakhs of short-term capital gains
taxable u/s 111A, ¥ 70 lakhs of long-term capital gains taxable u/s 112A and
business income of X 2.90 crores. Which of the following statements is correct?

(a) Surcharge@25% is leviable on income-tax computed on total income of X 4.40
crores

(b) Surcharge@15% is leviable on income-tax computed on total income of % 4.40
crore

() Surcharge@15% is leviable in respect of income-tax computed on capital gains
of ¥ 1.50 crore; in respect of business income of X 2.90 crores, surcharge is
leviable@25% on income-tax

(d) Surcharge@15% is leviable in respect of income-tax computed on capital gains
of ¥ 1.50 crore; in respect of business income of % 2.90 crores, surcharge is
leviable@37% on income-tax (MTP 2 Marks Sep’22)

Ans: (c)

8. Miss Nish (68 years) is a resident individual. For the Assessment Year 2024-25,
she has following income: Long-term capital gain on transfer of equity shares
Rs.1,80,000 (Securities Transaction Tax has been paid on acquisition and transfer
of the said shares) Other income Rs.2,75,000. Calculate the tax liability of Miss
Nish for Assessment Year 2024-25.

(a) Nil

(b) Rs. 5,670

(c) Rs. 5,720

(d Rs. 8,320 (MTP 2 Marks, Nov’21)

Ans: (c)

9. Under the provisions of the Income-tax Act, 1961, the term “Person” would not
include:
(a) A body corporate incorporated in a country outside India
(b) A Limited Liability Partnership (LLP)
(c) Indian branch of a foreign company
(d A local authority (MTP 1 Mark, April’19)

Ans :(c)

10. XYZ LLP falls under which category of person?
(a) Firm
(b) Company

Pa£e8
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() Association of persons
(d) Artificial judicial person (MTP 1 Mark, May’20)
Ans :(c)

11. (Also includes concepts of Income Which Do Not Form a Part of Total Income)
Mr. Devansh has agricultural income of Rs.2,30,000 and business income of
Rs.2,45,000. Which of the following statements are correct?

(@) Agricultural income has to be aggregated with business income for tax rate
purposes.

(b) No aggregation is required since agricultural income is less than basic
exemption limit.

() No aggregation is required since business income is less than basic exemption
limit.

(d) Agricultural income is exempt under section 10(1) but the same has to be
aggregated with business income, since it exceeds Rs. 5,000. (MTP 1 Mark,
March’19)

Ans: (c)

12. Mr. Ashutosh, aged 65 years and a resident in India, has a total income of
3,20,00,000, comprising long term capital gain taxable under section 112 of
57,00,000, long term capital gains taxable under section 112A of ¥ 65,00,000 and
other income of ¥ 1,98,00,000. What would be his tax liability for A.Y. 2024-25.
Assume that Mr. Ashutosh has not opted for the provisions of section 115BAC.

(a) %90,05,880

(b) %97,25,690

(c) T97,34,400

(d R97,22,440(MTP 2 Marks, Oct’21)
Ans: (d)

13. Mr. Ashish’s total income comprises of long-term capital gains on sale of land T 5
lakhs; short-term capital gains on sale of STT paid listed equity shares ¥ 2 lakhs;
income from lottery % 1 lakh and savings bank interest ¥ 30,000. He invests ¥ 1.50
lakhs in PPF. His tax liability for A.Y.2024-25, assuming that he is a resident
Indian of the age of 40 years and does not opt for the provisions of section 115BAC,

is -
(a % 1,64,800
(b) % 1,66,400
(c) ¥1,14,400
(d %1,13,300 (MTP 2 Marks Oct’22)
Ans: (c)

14. Sham Singh spends % 1,00,000 on cultivation and harvesting of his agricultural
produce. 50% of the production is sold for ¥1,10,000 and rest is stored for self-
consumption. What is the amount of the agricultural income?

(a) Rs. 60,000

() Rs. 1,10,000

() Rs.1,20,000

(d) Rs. 1,00,000 (MTP 2 Marks, Oct’20)
Ans: (a)

15. Which of the following statements is/are true in respect of taxability of
agricultural income under the Income-tax Act, 1961°?
() Any income derived from saplings or seedlings grown in a nursery is
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agricultural income exempt from tax u/s 10(1).

(i) 60% of dividend received from shares held in a tea company is agricultural
income exempt from tax u/s 10(1).

(i) While computing income tax liability of an Assessee aged 50 years,
agricultural income is required to be added to total income only if net
agricultural income for the P.Y. exceeds Rs. 5,000 and the total income
(including net agricultural income) exceeds Rs.2,50,000.

(iv) While computing income tax liability of an Assessee aged 50 years,
agricultural income is required to be added to total income only if net
agricultural income for the P.Y. exceeds Rs. 5,000 and the total income
(excluding net agricultural income) exceeds Rs.2,50,000.

Choose from the following options:
(@) (I) and (iii)
(b) (ii) and (iii)
(c) (I) and (iv)
(d) (I), (ii) and (iv) (MTP 2 Marks, Oct’19)
Ans: (c)

16. Mr. Ajay is a recently qualified doctor. He joined a reputed hospital in Delhi on
01.01.2024. He earned total income of ¥ 3,40,000 till 31.03.2024. His employer
advised him to claim rebate u/s 87A while filing return of income for A.Y. 2024-
25. He approached his father to enquire regarding what is rebate u/s 87A of the
Act. His father told him:

() An individual who is resident in India and whose total income does not exceed
T 3,50,000 is entitled to claim rebate under section 87A.

(i) An individual who is resident in India and whose total income does not exceed
¥ 5,00,000 is entitled to claim rebate under section 87A.

(i) Maximum rebate allowable under section 87A is ¥ 5,000.

(v) Rebate under section 87A is available in the form of exemption from total
income.

(vy Maximum rebate allowable under section 87A is ¥ 2,500.

(vi Rebate under section 87A is available in the form of deduction from tax
liability.

As a tax expert, do you agree with the explanation given by Mr. Ajay’s father?

Choose the correct option from the following:

a) (id), (iid), (vi)

(b) (i), (v), (vi)

(c) (i), (i), (iv)

(d (i), (iv), (v)

() (i) (v)(vi  (RTP May’19)

Ans: The-Answer-is{b} (As per amendment under the new default scheme An individual
who is resident in India and whose total income does not exceed ¥ 7,000,000 and
Maximum rebate allowable under section 87A is ¥ 25,000)

17. Mr. Ajay is found to be the owner of two gold chains of 50 gms each (market value
of which is ¥ 1,45,000 each) during the financial year ending 31.3.2014 but he
could offer satisfactory explanation for ¥ 50,000 spent on acquiring these gold
chains. As per section 115BBE, Mr. Ajay would be liable to pay tax of —

(a) % 1,87,200
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(b) % 2,26,200
() % 1,49,760
(d) % 1,80,960 (RTP May ’20)

Ans: (a)

18. Mr. Anay (aged 25) has agricultural income of ¥ 2,10,000 and business income of
¥ 2,35,000. Which of the following statement is correct?
(a) Agricultural income always has to be aggregated with business income for rate
purposes

(b) No aggregation is required since business income which constitutes his total
income, is less than basic exemption limit

() No aggregation is required since agricultural income is less than basic exemption
limit
(d) Agricultural income is exempt under section 10(1) but the same has to be
aggregated with business income, since it exceeds X 5,000. (RTP May ’19)
Ans: (b)

Question & Answers
Question 1
Mr. Kabra is engaged in the business of growing and curing (further processing)
coffee in the state of Karnataka. The whole of coffee grown in his plantation is
cured. Relevant information pertaining to the year ended 31-03-2024 are given

hereunder:
Particulars AMOUNT
L4

Opening balance of the car as on 01-04-2023 3,00,000
Opening balance of machinery as on 01-04-2023 | 15,00,000
Expenses incurred in growing coffee 3,10,000
Expenses of curing coffee 3,00,000
Sale value of cured coffee 22,00,000

The car is used for the agricultural operations and the machine was used for
coffee curing business operations. Compute the income arising from the above
activities for the assessment year 2024-25 and the written down value as on 01-
04-2023 (WDV as on 31-03-2024 less depreciation for the P.Y. 2023-24). (PYP 4
Marks May’22)

Answer 1
Computation of Income from growing and curing coffee of Mr. Kabra forA.Y. 2024-
25
Particulars Amount | Amount
) )
Income from growing and curing coffee
Sale value of cured coffee 22,00,000
Less: Expenses incurred in growing coffee 3,10,000
Depreciation on Car (15% of % 3,00,000) 45,000
3,55,000
Less: Expenses of curing coffee 3,00,000 {18,45,000
Depreciation on machinery (15% of X 15,00,000) 2,25,000 | 5,25,000
13,20,000
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Business Income [25% of * 13,20,000] 3,30,000
Agricultural Income [75% of ¥ 13,20,000] 9,90,000
Computation of Written Down Value as on 1.4.2024

Opening balance of Car as on 1.4.2023 3,00,000

Less: Depreciation@15% on X 3 lakh 45,000

WDV of car as on 1.4.2024 2,55,000

Opening balance of machinery as on 1.4.2023 15,00,000

Less: Depreciation@15% on % 15 lakh 2,25,000

WDV of machinery as on 1.4.2024 12,75,000

Question 2
Discuss the taxability of the following transactions giving reasons, in the light of
relevant provisions, for your conclusion. Attempt any two out of the following
three parts:

() Mr. Rajpal took a land on rent from Ms. Shilpa on monthly rent of ¥ 10,000. He
sub- lets the land to Mr. Manish for a monthly rent of ¥ 11,500. Manish uses the
land for grazing of cattle required for agricultural activities. Mr. Rajpal wants to
claim deduction of ¥ 10,000 (being rent paid by him to Ms. Shilpa) from the
rental income received by it from Mr. Manish

(ii) Mr. Netram grows paddy on land. He then employs mechanical operations on
grain to make it fit for sale in the market, like removing hay and chaff from the
grain, filtering the grain and finally packing the rice in gunny bags. He claims
that entire income earned by him from sale of rice is agricultural income not
liable to income- tax since paddy as grown on land is not fit for sale in its original
form (PYP 4 Marks, Jan’21)

Answer 2

() The rent or revenue derived from land situated in India and used for agricultural
purposes would be agricultural income under section 2(1A) (a). Therefore, rent
received from sub-letting of the land used for grazing of cattle required for agriculture
activities is agricultural income. The rent can either be received by the owner of the
land or by the original tenant from the sub-tenant.

Accordingly, rent received by Mr. Rajpal from Mr. Manish for using land for grazing
of cattle required for agricultural activities is agricultural income exempt u/s 10(1).
As per section 14A, no deduction is allowable in respect of exempt income.

(i) The income from the process ordinarily employed to render the produce fit to be taken
to the market would be agricultural income under section 2(1A) (b)(ii). The process of
making the rice ready from paddy for the market may involve manual 1 operations or
mechanical operations, both of which constitute processes ordinarily employed to
make the product fit for the market.

Accordingly, the entire income earned by Mr. Netram from sale of rice is agricultural
income.

Question 3
The assessee is found to be the owner of the gold (market value of which is X
50,00,000) during the financial year ending 31-03-2024 but he recorded to have
spent ¥ 10,00,000 in acquiring the same. Explain how the Assessing Officer will
deal with the issue. (PYP 2 Marks May’22)

Answer 3
As per section 69B, if the assessee is found to be the owner of gold (market value of
which is % 50 lakhs) during the financial year ending 31.3.2022 but he has recorded
to have spent only X 10 lakhs in acquiring it, the Assessing Officer can add the
difference of the market value of such gold and X 10 lakhs i.e., T 40 lakhs as the
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income of the assessee for A.Y.2024-25, if the assessee offers no satisfactory
explanation thereof. Such income would be chargeable to tax@78% (@60% plus

surcharge @25% and cess @4%).

Question 4

Mr. Rajat Saini, aged 32 years, furnishes the following details of his total income

for the A.Y. 2024-25:

Income from Salaries 27,88,000
Income from House Property 15,80,000
(Computed)

Interest Income from FDR's 7,22,000

He has not claimed any deduction under Chapter VI-A. You are required to
compute tax liability of Mr. Rajat Saini as per the regular provisions of Income-

tax Act, 1961. (PYP S5 Marks, Nov’18, PYP May ’20)

Answer 4
Computation of tax liability of Mr. Rajat Saini for the A.Y. 2024-25
Particulars 4 L4

Income from Salaries 27,888,000
Income from house property (computed) 15,80,000
Interest income from FDR’s 7,22,000
Total Income 50,90,000
Tax Liability
(A) Tax payable including surcharge on total income
of ¥ 50,90,000
Upton X 2,50,000 Nil
% 2,50,001 - % 5,00,000 @ 5% 12,500
% 5,00,001 -% 10,00,000 @ 20% 1,00,000
% 10,00,001 - % 50,90,000 @30% 12,27,000

13,39,500
Add: Surcharge @ 10%, since total income exceeds X 50 1,33,950 14,73,450
lakhs but does not exceed X 1 crore.
(B) Tax Payable on total income of X 50 lakhs
(X 12,500 plus % 1,00,000 plus X 12,00,000, being 30% of 13,12,500
% 40,00,000)
(C) Excess tax payable (A)-(B) 1,60,950
(D) Marginal Relief (X 1,60,950 — % 90,000, being the 70,950
amount of income in excess of X 50,00,000)
Tax payable (A)-(D) [ X 14,73,450 — X 70,950] 14,02,500
Add: EC & SHEC @ 4% 56,100
Tax Liability 14,58,600
Tax Liability (Rounded off) 14,58,600

Question 5

Explain with brief reasons, whether the following income can be regarded as
agricultural income, as per the provisions of the Income-tax Act, 1961:

() Rent received for letting out agricultural land for a movie shooting.

(ii) Income from sale of seedlings in a nursery adjacent to the agricultural lands
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owned by an assessee. (RTP Nov ’20)
Answer 5

i) Rent received for letting out agricultural land for a movie shooting:
As per section 2(1A), “agricultural income” means, inter alia,
e any rent or revenue derived from land
e which is situated in India and is used for agricultural purposes.

In the present case, rent is being derived from letting out of agricultural land for a
movie shoot, which is not an agricultural purpose and hence, it does not constitute
agricultural income.

ii) Income from sale of seedlings in a nursery:

As per Explanation 3 to section 2(1A), income derived from saplings or seedlings
grown in a nursery is deemed to be agricultural income, whether or not the basic
operations were carried out on land.

Therefore, the amount received from sale of seedlings in a nursery adjacent to the
agricultural lands owned by the assessee constitutes agricultural income.

Question 6
Mr. Charan grows paddy and uses the same for the purpose of manufacturing of
rice in his own Rice Mill. He furnished the following details for the financial year
2023-24:
Cost of cultivation of 40% of paddy produce is ¥ 9,00,000 which is sold for X
18,50,000.
Cost of cultivation of balance 60% of paddy is ¥ 14,40,000 and the market
value of such paddy is ¥ 28,60,000.
Incurred X 3,60,000 in the manufacturing process of rice on the balance (60%)
paddy.
The rice was sold for ¥ 38,00,000.
Compute the Business income and Agricultural Income of Mr. Charan for A.Y.
2024-25. (RTP Nov ’18)

Answer 6
Computation of Business Income and Agriculture Income of Mr. Charan for A.Y.
2024-25
Particulars Business Agricultural Income
Income
i % %

Sale of Rice
Business income

Sale Proceeds of Rice 38,00,000

Less: Market Value of paddy (60%) 28,60,000

Less: Manufacturing expenses 3,60,000

Agricultural Income 5,80,000

Market value of paddy (60%) 28,60,000

Less: Cost of cultivation 14,40,000 | 14,20,000

Sale of Paddy

Agricultural Income
Sale proceeds of paddy produce (40%) 18,50,000
Less: Cost of cultivation 9,00,000 9,50,000
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| | | 23,70,000

Question 7

For the Assessment year 2024-25, the Gross Total Income of Mr. Manas, a
resident in India aged 65 years, was Rs.8,18,240 which includes long-term capital
gain of Rs.2,45,000 and Short-term capital gain of Rs. 98,000. The Gross Total
Income also includes interest income of Rs. 15,000 from savings bank deposits
with banks. Mr. Manas has invested in PPF Rs.1,40,000 and also paid a medical
insurance premium Rs. 31,000. Mr. Manas also contributed Rs. 40,000 to Public
Charitable Trust eligible for deduction under section 80G by way of an account
payee cheque. Compute the total income and tax thereon of Mr. Manas. Assumed
that they had not opted for 115BAC. (MTP 7 Marks, Oct’18)

Answer 7
Computation of total income and tax payable by Mr. Manas for the A.Y.
2024-25
Particulars Rs. Rs.
Gross total income including long term capital gain 8,18,240
Less: Long term capital gain 2,45,000
5,73,240
Less: Deductions under Chapter VI-A:
Under section 80C in respect of PPF deposit 1,40,000
Under section 80D (it is assumed that premium of 365000
Rs.31,000 is paid by otherwise than by cash. The 31,000
deduction would be restricted to Rs.30,000 (as per
amendment Rs. 50,000 is the limit for senior citizen.),
since Mr. Manas is a senior citizen)
Under section 80G (See Notes 1 & 2 below) 19,662
Under section 80TTA (See Note 3 below) 10,000 2,00,662
Total income (excluding long term capital gains) 3,72,578
Total income (including long term capital gains) 6,17,578
Total income (rounded off) 6,17,580
Tax on total income (including long-term capital gains of
Rs.2,45,000)
LTCG Rs.2,45,000 x 20% 49,000
Balance total income Rs.3,72,580 3,629
Add: EC & HSEC @ 4% (as per amendment) 52,629
1,580
2105
Total tax liability 54,734
Total tax liability (rounded off) 54,730
Notes:
1. Computation of deduction under section 80G:
Particulars Rs.
Gross total income (excluding long term capital gains) 5,73,240
Less: Deduction under section 80C, 80D & 80TTA 1,880,000
3,93,240
10% of the above 39,324
Contribution made 40,000
Lower of the two eligible for deduction under section 80G 39,324
Deduction under section 80G - 50% of Rs.39,324 19,662

2. Deduction under section 80G is allowed only if amount is paid by any mode other than
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cash, in case of amount exceeding Rs. 2,000. Therefore, the contribution made to
public charitable trust is eligible for deduction since it is made by way of an account
payee cheque.

3. Deduction of up to Rs. 10,000 under section 80TTA is allowed, inter alia, to an
individual assesse if gross total income includes interest income from deposits in a
saving account with bank.

Question 8
Examine with brief reasons whether the following statements are true or false
with reference to the provisions of the Income-tax Act, 1961:
Rent of Rs. 72,000 received by Mr. X for letting out agricultural land for a
movie shooting is an agricultural income and hence exempt under section
10(1). (MTP 2 Marks, Oct’18)

Answer 8
False: Agricultural income means, inter alia, any rent or revenue derived from land
which is situated in India and is used for agricultural purposes. In the present case,
rent is being derived from letting out of agricultural land for a movie shoot, which is
not an agricultural purpose. In effect, the land is not being put to use for agricultural
purposes. Therefore, Rs. 72,000, being rent received by Mr. X from letting out of
agricultural land for movie shooting, is not exempt under section 10(1). The same is
chargeable to tax under the head “Income from other sources

Question 9
Explain the difference between Circulars and Notifications in the context to the
Income-tax Act, 1961.
(MTP 3 Marks, Aug’18)
Answer 9
Difference between Circulars and notifications

Circulars Notifications

Circulars are issued by CBDT. Notifications are issued by the Central
Government. The CBDT is also empowered to
issue notifications.

Circular are issued with certain Central Government issues notifications to
specific problems and to clarify effect the provisions of the Act and CBDT
doubt regarding the scope and issues notifications to make and amend
meaning of certain provisions of Income-tax Rules.

the Act.

The department is bound by the Notifications are binding in nature. Both
circulars. While such circulars department and assesses are bound by the
are not binding on the assesses, notifications.

they can take advantage of
beneficial circulars.

Question 10
Compute the tax liability of Ms. Kajal for A.Y. 2024-25, a female resident aged 40
years, where her total income is 32,00,50,000 comprising of business income. Ms.
Kajal opts for the provisions of section 115BAC. (MTP 3 Marks April 22)
Answer 10
Computation of tax liability of Ms. Kajal under section 115BAC for the
A.Y.2024-25

2 2
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(A) Tax payable including surcharge on total income of
% 2,00,50,000
Upto 32,560,000 ¢ 3,00,000 Nil Nil
¢ ¢ 3,00,000 -7 6,00,000 R 3,00,000 @ 5%] 15,000
15,000
¢ 6,00,001 -? 9,00,000 R 3,00,000 @ 10%] 30,000
30,000
¢ 9,00,001 -%¢ 12,00,000 [3,00,000 @ 15%] 45,000
45,000
¢ 12,00,001 - ¥ 15,00,000 [F3,00,000 @ 20%] 60,000
60,000
Above ¥ 15,00,000 @30% 55,65,000
Add: Surcharge @ 25% (since total income exceeds | 57,15,000
% 2 crore but-deesnot-exceed I S-erore) (As per
amendment surcharge will be 25% for income
exceeding ¥ 2 crore)
14,28,750 | 71,43,750
(B) Tax payable on total income of ¥ 2 crore [Z
15,000 plus 65,55,000
Z 30,000 plus ¥ 45,000 plus ? 60,000 plus3
62,500 plus
¥ 55,50,000) plus surcharge @15%]
(@) Excess tax payable (A)-(B) 5,88,750
(D) Marginal Relief (X 5,88,750 — ¥ 50,000, being the 5,38,750
amount of income in excess of T 2,00,00,000)
(E) Tax payable before cess (A — D) 66,05,000
Add: Health and education cess @4% 2,64,200
Tax payable 68,69,200
Alternative Presentation
Computation of tax liability of Ms. Kajal for the A.Y.2022-23
4 4
(A) Tax payable including surcharge on total income of
% 2,00,50,000
Upto 22,506,000 ¥ 3,00,000 Nil Nil
¢ < 3,00,000 -? 6,00,000 R 3,00,000 @ 5%] 15,000 | 15,000
¢ 6,00,001 -? 9,00,000 R 3,00,000 @ 10%] 30,000 30,000
Z 9,00,001 -? 12,00,000 3,00,000 @ 15%] 45,000 | 45,000
¢ 12,00,001 -7 15,00,000 [F3,00,000 @ 20%] 60,000 60,000
Above ¥ 15,00,000 @30% 55,65,000
Add: Surcharge @ 25% (since total income exceeds 57,15,000
R 2 crore but-deoesnot-exceed-I-5-—erore}-(As per
amendment surcharge will be 25% for income
exceeding ¥ 2 crore)
14,28,750 | 71,43,750
(B) Tax payable on total income of ¥ 2 crore [¥ 15,000
plus 65,55,@
Z 30,000 plus ¥ 45,000 plus ¥ 60,000 plusZ- 62,500 )
plus N
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Z 55,50,000) plus surcharge @15%]
(©) Total income less X 2 crore 50,000
(D) Tax payable on total income of X 2 crore plus excess of 66,05,000
total income over X 2 crore (B + C)
(E) Tax payable: Lower of A and D 66,05,000
Add: Health and education cess @4% 2,64,200
Tax payable 68,69,200
(F) Marginal Relief (A -D) 5,38,750

Question 11
Miss Deepika, a citizen of India, got married to Mr. John of Australia and left
India for the first time on 20.8.2023. She has not visited India again during the
P.Y. 2023 -24. She has derived the following income for the year ended 31-3-

2024:
Particulars Rs.
(i) | Income from sale of centrifuged latex processed from 1,50,000
rubber plants grown in Kanyakumari.
(ii) | Income from sale of coffee grown and cured in Kodagu, 2,00,000
Karnataka
(iii)| Income from sale of coffee grown, cured, roasted and 5,00,000

grounded in Colombo. Sale consideration was received
in Chennai.

(iv)| Income from sale of tea grown and manufactured in 12,00,000
West Bengal.

(v) | Income from sapling and seedling grown in a nursery 2,00,000
at Cochin. Basic operations were not carried out by her
on land.

You are required to determine the residential status of Miss Deepika and compute
the business income and agricultural income of Miss. Deepika for the Assessment
Year 2024-25. (MTP 7 Marks, Oct’20)
Answer 11
Miss Deepika is said to be resident if she satisfies any one of the following basic
conditions:

(i) Has been in India during the previous year for a total period of 182 days or more
(o1)

(i) Has been in India during the 4 years immediately preceding the previous year for
a total period of 365 days or more and has been in India for at least 60 days during
the previous year.

Miss Deepak’s stay in India during the P.Y.2023-24 is 142 days
[30+31+30+31+20] which is less than 182 days. However, her stay in India
during the P.Y.2023-24 exceeds 60 days. Since, she left India for the first time,
her stay in India during the four previous years prior to P.Y.2023-24 would be
more than 365 days. Hence, she is a resident for P.Y.2023-24.

Further, Miss Deepika would be “Resident and ordinarily resident” in India in
during the previous year 2023-24, since her stay in India in the last seven
previous years prior to P.Y.2023-24 is more than 730 days and she must be
resident in the preceding ten years.

Computation of business income and agricultural income of Miss Deepika for
A.Y. 2024-25

Pa£e18

Crack your CA CS CMA Exams in 1 Attempt -Join CA Mentoring Program if you are unable to manage/focus on your studies.
Batch 1: Working Students (Job) Batch 2: Doing Classes Batch 3: Full time available for Studies Batch 4: Married Students
Visit CAmentoringprogram.org | WhatsApp +91 7890770777 | Telegram https://t.me/caraviagarwaloriginal

all subiects free Question Bank



https://camentoringprogram.org/
https://api.whatsapp.com/send/?phone=917890770777&text&type=phone_number&app_absent=0
https://t.me/caraviagarwaloriginal

Dr. CA Ravi Agarwal's CA Inter Taxation Compiler 6.0

Paper 3 - Taxation

Score 70+ in Taxation

Particulars

Income

Business
Income
£4

Agricultur
al Income
£4

(I)

Income from sale of centrifuged latex
processed from rubber plants grown in
Kanyakumari (Apportioned between
business and agricultural income in the
ratio of 35:65 as per Rule 7A of Income-tax
Rules, 1962)

1,50,000

52,500

97,500

(ii)

Income from sale of coffee grown and cured
in Kodagu, Karnataka (Apportioned
between business and agricultural income
in the ratio of 25:75, as per Rule 7B(1) of
the Income-tax Rules, 1962)

2,00,000

50,000

1,50,000

(idi

) | Income from sale of coffee grown, cured,
roasted and grounded in Colombo and
received in Chennai [See Note 1 below]

5,00,000

5,00,000

(iv)

Income from sale of tea grown and
manufactured in West Bengal
(Apportioned between business and
agricultural income in the ratio of 40:60
as per Rule 8 of the Income-tax Rules,
1962)

12,00,000

4,80,000

7,20,000

(v)

Income from sapling and seedling grown
in a nursery at Cochin. Basic operations
were not carried out on land [See Note 2
below]

2,00,000

2,00,000

22,50,000

10,82,500

11,67,500

Notes

(a)

(b)
(c)

dome

(d)
May ’

Answer 12

Question 12

Examine with reasons whether the following receipts are taxable or not under the
provisions of Income-tax Act, 1961.

stic company.

18)

Taxability of receipts under the provisions of Income-tax Act,

all subiects free Q

uestion Bank

(1) Since MS Deepika is resident and ordinarily resident in India for A.Y. 2024-25, her
global income is taxable in India. Entire income from sale of coffee grown, cured,
roasted and grounded in Colombo is taxable as business income since such income
is earned from sale of coffee grown, cured, roasted and grounded outside India i.e.,
in Colombo.

(2) As per Explanation 3 to section 2(14), income derived from sapling or seedlings grown
in a nursery would be deemed to be agricultural income, whether or not the basic
operations were carried out on land. Hence, income of Rs.2,00,000 from sapling and
seedling grown in a nursery at Cochin is agricultural income.

Mr. Akash received a sum of ¥ 3,00,000 as compensation from “Sahayata
Foundation” towards the loss of property on account of Flood Disaster at Chennai.

Rent of ¥ 60,000 received for letting out agricultural land for a movie shooting.
Dividend of X 17 lakhs received by Mr. Yatin during P.Y. 2023-24 from A Ltd., a

Agricultural income of ¥ 1,30,000 of Mr. Sunil from a land situated in Canada. (RTP

Pa£e19
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1961

Taxable/Not
taxable

Reason

()

Taxable

As per section 10(10BC), any amount received or receivable by an
individual as compensation, on account of any disaster, from the
Central Government, State Government or a local authority is
exempt from tax, to the extent the individual has not been allowed
deduction under any other provision of Income-tax Act, 1961 on
account of any loss or damage caused by such disaster.

However, in this case, since Mr., Akash has received a
compensation of X 3,00,000 from Sahayata Foundation, and not
from the Central Government or State Government or local
authority, no exemption will be available under section 10(10BC)
and the same is chargeable to tax.

(b)

Taxable

Agricultural income is exempt from income-tax as per section
10(1). Agriculture income means, inter alia, any rent or revenue
derived from land which is situated in India and is used for
agricultural purposes.

In this case, rent is being derived from letting out of

agricultural land for a movie shoot, which is not an agricultural
purpose. In effect, the land is not being put to use for agricultural
purposes. Therefore, T 60,000, being rent received from letting out
agricultural land for movie shooting, is not exempt under section

Partly taxable
(Taxable)

10(1) and the same is chargeable to tax.

per-section 11 5BBDA-

As per amendment dividend u/s 2(22)(a)/(b)/(c)/(d)/(e) from an
Indian Company will now be taxable normal rates in the hands
of the Shareholder Assessee. Interest Income incurred to earn
such income will be allowed as a deduction but only upto 20%
of such income. No deduction of commission/remuneration
paid to any other person. DDT has been abolished.

(d)

Taxable

Agricultural income from a land situated in any foreign country is
not exempt under section 10(1) and hence, is chargeable to tax.

Therefore, in this case, agricultural income of % 1,30,000 of Mr.
Sunil from land situated in Canada is taxable.

Question 13
Mr. Rana, a resident and ordinarily resident aged 42 years, manufactures rubber
from the latex processed from rubber plants grown in Kerala. Thereafter, he sold
the rubber for X 47 lakhs. The cost of growing rubber plants was ¥ 25 lakhs and
the cost of manufacturing rubber was ¥ 7 lakhs. He has no other income during
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the previous year 2023-24. Compute his tax liability for the Assessment Year
2024-25. (RTP May ’19)
Answer 13
In cases where the assessee himself grows rubber plants and manufactures rubber
processed from latex obtained from rubber plants in India, then, as per Rule 7A, 35%
of profit on sale of rubber is taxable as business income under the head “Profits and
gains from business or profession”, and the balance 65% is agricultural income, which
is exempt from tax.
Profits from manufacture and sale of rubber processed from latex = X 47 lakhs — X 25
lakhs — % 7 lakhs =% 15 lakhs
Agricultural Income = 65% of ¥ 15 lakhs =% 9.75 lakhs Business Income = 35% of ¥ 15
lakhs =% 5.25 lakhs.
The tax liability of Mr. Rana has to be computed applying the concept of partial
integration, since his total income comprises of both agricultural income and non-
agricultural income and his agricultural income exceeds % 5,000 p.a and his non-
agricultural income exceeds the basic exemption limit i.e., ¥ 2,50,000 (applicable, in
his case).
Accordingly, his tax liability would be computed in the following manner:

Computation of tax liability of Mr. Rana for the A.Y. 2024-25

Particulars 3z

Tax on total income of ¥ 15,00,000, being agricultural income 2,62,500
and non-agricultural income

Less: Tax on agricultural income and basic exemption limit i.e.,

% 12,25,000 [ 9,75,000 plus 2 2,50,000] 1,80,000

82,500
Add: Health and Education cess@4% 3,300
Total Tax liability 85,800

Question 14
Briefly explain the purpose for which the words "PROVISO" and "EXPLANATION"
are incorporated under various sections of the Income-tax Act, 1961. (PYP 4
Marks, May’18)

Answer 14

Proviso: The Proviso to a section is incorporated to specify the exception(s) to the
provision contained in the respective section i.e., the proviso spells out the cases
where the provision contained in the respective section would not apply or where the
provision contained in the respective section would apply with certain modification.
Explanation: An Explanation is incorporated in a section to provide a clarification
relating to the provision contained in that section. Generally, an Explanation is
clarificatory in nature.

Question 15
Mr. X a resident, aged 56 years, till recently was a successful businessman filing
his return of incomes regularly and promptly ever since he obtained PAN card.
During the COVID- Pandemic period his business suffered severely and he
incurred huge losses. He was not able to continue his business and finally on 1st
January, 2024 he decided to wind-up his business which he also promptly
intimated to the jurisdictional Assessing Officer about the closure of his business.
The Assessing Officer sent him a notice to tax income of A.Y. 2024-25 during the
A.Y. 2023-24 itself. Does the Assessing Officer have the power to do so? Are there
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any exceptions to the general rule “Income of the previous year is assessed in the
assessment year following the previous year”? (PYP 4 Marks Nov ‘22)
Answer 15
Yes, he has the power to do so.
Since the business of Mr. X is discontinued on 1st January, 2024, the income of the
period from 1.4.2023 to 1.1.2024 may, at the discretion of the Assessing Officer, be
charged to tax in A.Y.2023-24 itself.
Following are the other exceptions to the general rule “Income of the previous year is
assessed in the assessment year following the previous year” i.e., the income of the
previous year is assessed in the previous year itself.

(i) Shipping business of non-resident
(i) Persons leaving India with no present intention of returning

(i) AOP/BOI/Artificial Juridical Person formed for a particular event or
purpose and likely to be dissolved

(iv) Persons likely to transfer property to avoid tax.

Question 16
Examine with reasons whether the following statements are correct/incorrect
with regard to the provisions of Income-tax Act, 1961:
Cash credit of ¥ 1,50,000 were traced in the books of accounts of Mr. Yogesh for
which no explanation about its source was provided. Such income is taxable
@30% under section 115BB in the hands of Yogesh. (RTP Nov ‘23)

Answer 16
The statement is incorrect.

Unexplained cash credit are taxable @60%plus surcharge @25% plus cess @4%
under section 115BBE.

Question 17
Mr. Avani, a resident aged 25 years, manufactures tea leaves from the Tea plants
grown by him in India. These are then sold in the India market for ¥ 40 lakhs.
The cost of growing tea plants was ¥ 15 lakhs and the cost of manufacturing tea
leaves was X 10 lakhs. Compute her tax liability for the Assessment Year 2024-
15. (PYP 7 Marks, May’18)

Answer 17
Computation of tax liability of Ms. Avani for the A.Y. 2024-25
In cases where the assesse himself grows tea leaves and manufactures tea in India,
then, as per Rule 8 of 40% of profit on sale of tea is taxable as business income under
the head “Profits and gains from business or profession”, and the balance 60% is
agricultural income, which is exempt from tax.
Profits from manufacture and sale of tea = ¥ 40 lakhs — % 15 lakhs — % 10 lakhs =% 15
lakhs
Agricultural Income = 60% of X 15 lakhs = % 9 lakhs Business Income = 40% of X 15
lakhs = % 6 lakhs.
The tax liability of Ms. Avani has to be computed applying the concept of partial
integration, since her total income comprises of both agricultural income and non-
agricultural income and her agricultural income exceeds % 5,000 p.an and her non-
agricultural income exceeds the basic exemption limit i.e., ¥ 2,50,000 (applicable, in

her case).
Accordingly, her tax liability would be computed in the following manner:
‘ Particulars | 3 |
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Tax on total income of X 15,00,000, being agricultural 2,62,500
income and non-agricultural income

Less: Tax on agricultural income and basic exemption
limit i.e., 1,57,500
%¥11,50,000 [ 9,00,000 plus < 2,50,000]

1,05,000
: i 2 haicd ! - 210 | 050
Add: EC & SHEC @ 4% (as per amendment) 4,200
Total Tax liability 1,09,200

Section B
Question 1
Who is an “Assessee”? Explain
Answer 1

As per section 2(7), assessee means a person by whom any tax or any othersum of
money is payable under the Income-tax Act, 1961.

In addition, the term includes —

» Every person in respect of whom any proceeding under the Act hasbeen taken
for the assessment of —

e his income; or
e the income of any other person in respect of which he isassessable; or
e the loss sustained by him or by such other person; or
e the amount of refund due to him or to such other person.
» Every person who is deemed to be an assessee under any provision ofthe Act;

» Every person who is deemed to be an assessee in default under any provision of the
Act.

Question 2
State any four instances where the income of the previous year is assessable in
the previous year itself instead of the assessment year.

Answer 2

The income of an assessee for a previous year is charged to income-tax in the assessment

year following the previous year. However, in a few cases, the income is taxed in the
previous year in which it is earned. These exceptions have been made to protect the
interests of revenue. The exceptions are as follows:

1) Where a ship, belonging to or chartered by a non-resident, carries passengers,
livestock, mail or goods shipped at a port in India, the shipis allowed to leave the
port only when the tax has been paid or satisfactory arrangement has been made for
payment thereof. 7.5% ofthe freight paid or payable to the owner or the charterer or
to any person on his behalf, whether in India or outside India on account of such
carriage is deemed to be his income which is charged to tax in the same year in which
it is earned.
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2) Where it appears to the Assessing Officer that any individual may leave India during
the current assessment year or shortly after its expiry and he has no present
intention of returning to India, the total income of such individual for the period from
the expiry of the respective previous year up to the probable date of his departure
from India is chargeable to tax in that assessment year.

3) If an AOP/BOI etc. is formed or established for a particular event or purpose and the
Assessing Officer apprehends that the AOP/BOI is likely to be dissolved in the same
year or in the next year, he can make assessment of the income up to the date of
dissolution as income of the relevant assessment year.

4) During the current assessment year, if it appears to the Assessing Officer that a
person is likely to charge, sell, transfer, dispose of or otherwise part with any of his
assets to avoid payment of any liability under this Act, the total income of such person
for the period from the expiry of the previous year to the date, when the Assessing
Officer commences proceedings under this section is chargeable to tax in that
assessment year.

5) Where any business or profession is discontinued in any assessment year, the income
of the period from the expiry of the previous year up to the date of such
discontinuance may, at the discretion of the Assessing Officer, be charged to tax in
that assessment year.

Question 3
Whether the income derived from saplings or seedlings grown in a nursery is taxable
under the Income-tax Act, 1961? Examine.

Answer 3

As per Explanation 3 to section 2(14A), income derived from saplings or seedlings grown
in a nursery shall be deemed to be agricultural income and exempt from tax, whether or
not the basic operations were carried out on land.

Question 4
What are the two schools of Hindu law and where are they prevalent? Explain. Also,
mention the difference between the two schools of Hindu Law.

Answer 4

The two schools of Hindu law are Dayabaga school, prevalent in West Bengal and
Assam, and Mitakshara school, prevalent in rest of India.

Under the Dayabaga school of Hindu Law, nobody acquires the right, sharein the
property by birth as long as the head of family is living. Thus, the children do not
acquire any right, share in the family property, as long as his father is alive and only on
death of the father, the children will acquire right/share in the property. Hence, the
father and his brothers would be the coparceners of the HUF.

Under the Mitakshara school of Hindu Law, one acquires the right to the family property
by his birth and not by succession irrespective of the fact that his elders are living. Thus,
every child born in the family acquires a right/sharein the family property.

Question 5
What is the difference between an Association of Persons and Body of Individuals?
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(New SM)
Answer 5

In order to constitute an Association of Persons (AOP), persons must join fora common
purpose or action and their object must be to produce income; itis not enough that the
persons receive the income jointly.

Body of Individuals denotes the status of persons like executors or trustees who merely
receive the income jointly and who may be assessable in like manner and to the same
extent as the beneficiaries individually. Thus, co- executors or co-trustees are assessable
as a BOI as their title and interest are indivisible.

The difference between an AOP and BOIl is that in case of a BOI, only individuals can be
the members, whereas in case of AOP, any person can be its member i.e., entities like
company, firm etc. can be the member of AOP but not of BOI.

In case of an AOP, members voluntarily come together with a common willfor a
common intention or purpose, whereas in case of BOI, such common will may or may
not be present.

Question 6
Mr. Sumit, a resident Indian, earns income of ¥ 15 lakhs from sale of rubber
manufactured from latex obtained from rubber plants grown by him in India and 2
20 lakhs from sale of rubber manufactured from latex obtained from rubber plants
grown by him in Malaysia during the A.Y.2024-25. What would be his business
income, assuming he has no other business?

Answer 6

Since Mr. Sumit is a resident, his global income would be taxable in India. Income of
20 lakhs from sale of rubber manufactured from latex obtained from rubber plants grown
by him in Malaysia would be his business income since it is from rubber plants grown
outside India. 35% income from sale of rubber manufactured from latex obtained from
rubber plants grown by him in India would be taxable as business income and balance
65% would be exempt as agricultural income.

Business income = 35% of 15 lakhs + % 20 lakhs = ¥ 25.25 lakhs

Question 7
Mr. Raja, a resident Indian, earns income of ¥ 10 lakhs from sale of coffee grown
and cured in India during the A.Y.2024-25. His friend, Mr. Shyam, a resident Indian,
earns income of ¥ 20 lakhs from sale of coffee grown, cured, roasted and grounded
by him in India during the A.Y.2024-25. What would be the business income
chargeable to tax in India of Mr. Raja and Mr. Shyam?

Answer 7

In case of income derived from the sale of coffee grown and cured by the seller in
India, 25% income on such sale is taxable as business income. In caseof income
derived from the sale of coffee grown, cured, roasted and grounded by the seller in
India, 40% income on such sale is taxable as business income.

Business income of Mr. Raja = 25% of X 10 lakhs = % 2.5 lakhs Business income of Mr.

Shyam = 40% of ¥ 20 lakhs = X 8 lakhs
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Question 8
The Jain HUF in Assam comprises of Mr. Suresh Jain, his wife Mrs. Sapna Jain, his
son Mr. Sarthak Jain, his daughter-in-law Mrs. Preeti Jain, his daughter Miss Seema
Jain and his unmarried brother Mr. Pritam Jain. Which of the members of the HUF
are eligible for coparcenary rights?

Answer 8
Dayabaga school of Hindu law is prevalent in Assam. In Dayabaga school of Hindu law,
nobody acquires the right, share in the property by birth as long as the head of family
is living.
Thus, the children do not acquire any right, share in the family property, as long as his
father is alive and only on death of the father, the children will acquire right/share in the

property.
Hence, Mr. Suresh Jain and his brother, Mr. Pritam Jain would be the coparceners of
the Jain HUF and are eligible for coparcenary rights.

Question 9
Compute the tax liability under default tax regime of Mr. Kashyap (aged 35), having
total income of ¥ 51,75,000 for the Assessment Year 2024-25. Assume that his total
income comprises of salary income, income from house property and interest on
fixed deposit.

Answer 9

Computation of tax liability of Mr. Kashyap for the A.Y.2024-25
under default tax regime

(A) Tax payable including surcharge on total income of ¥ 51,75,000

% 3,00,000 - 2 6,00,000 @5% | < 15,000

2 6,00,001 — 2 9,00,000 @10%| % 30,000

F 9,00,001 — % 12,00,000 @15% % 45,000
12,00,001 - ¥ 15,00,000 @20% % 60,000

15,00,001 - % 51,75,000 @309 % 11,02,500

Total % 12,52,500
21,25,250

Add: Surcharge @ 10% 2 13,77,750

(B) Tax Payable on total income of X 50 lakhs (R 1,50,000 plus

% 10,50,000) % 12,00,000
(C) Total Income Less % 50 lakhs % 1,75,000
(D) Tax payable on total income of ¥ 50 lakhs plus
the
excess of total income over % 50 lakhs (B +C) R
13,75,000
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(E) Tax payable: lower of (A) and (D) % 13,75,000
Add: Health and education cess @4% 55,000
Tax liability % 14,30,000

(F) Marginal Relief (A — D) 2,750

Alternative method -

(A) Tax payable including surcharge on total income of ¥ 51,75,000

*3,00,000 - * 6,00,000 @5% * 15,000
* 6,00,001 - * 9,00,000 @10% * 30,000
* 9,00,001 - * 12,00,000 @15% * 45,000
*12,00,001 - * 15,00,000 @20% * 60,000
*15,00,001 - * 51,75,000 @30% * 11,02,500
Total *12,52,500
Add: Surcharge@10% ' 1,25,250 X 13,77,750
(B) Tax Payable on total income of ¥ 50 % 12,00,000
lakhs (X 1,50,000 plus % 10,50,000)
(C) Excess tax payable (A)-(B) 2 1,77,750
(D)Marginal Relief (X 1,77,750 - % % 2,750

1,75,000, being the amount of income in
excess of T 50,00,000)

(E)Tax payable (A)-(D) % 13,75,000

Add: Health and education cess @4% ¥.55,000

Tax liability k4
14,30,000

Question 10
Mr. Agarwal, aged 40 years and a resident in India, has a total income of

6,50,00,000, comprising long term capital gain taxable under section 112 of 2
55,00,000, short term capital gain taxable under section 111A ofX
65,00,000 and other income of ¥ 5,30,00,000. Compute his tax liability for
A.Y.2024-25 under the default tax regime and optional tax regime as per the normal
provisions of the Act assuming that the total income and its components are the
same in both tax regimes.
Answer 10
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Computation of tax liability of Mr. Agarwal for the A.Y.2024-25

under default tax regim
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Particulars £
Tax on total income of X 6,50,00,000
Tax@20% of T 55,00,000 11,00,00|
Tax@15% of X 65,00,000 9,75,00]|
Tax on other income of ¥ 5,30,00,000
% 3,00,000 - X 6,00,000 @5% 15,00
% 6,00,000 - % 9,00,000 @10% 30,00
% 9,00,000 - % 12,00,000 @15% 45,00
% 12,00,000 - % 15,00,000 @20% 60,00
% 15,00,000 — % 5,30,00,000 @30% 1,54,50,00( 1,56,00,00!
1,76,75,00!
Add: Surcharge @15% on X 20,75,000 3,11,25
@25% on X 1,56,00,000 39,00,00 42,11,25
2,18,86,25|
Add: Health and education cess @4% 8,75,45
Tax Liability 2,27,61,70
Particulars 3
Tax on total income of X 6,50,00,000
Tax@20% of X 55,00,000 11,00,000
Tax@15% of X 65,00,000 9,75,000
Tax on other income of X 5,30,00,000
% 2,50,000 - % 5,00,000 @5% 12,500
% 5,00,000 - % 10,00,000 @20% 1,00,000
% 10,00,000 - % 5,30,00,000 @30% 1,56,00,000 1,57,12,500
Add: Surcharge @15% on X 20,75,000 1,77,87,500
@37% on X 1,57,12,500 3,11,250
58,13,625 61,24,875
2,39,12,375
Add: Health and education cess @4% 9,56,495
Tax Liability 2,48,68,870

provisions of the Act

Question 11

Computation of tax liability of Mr. Agarwal for the A.Y.2024-25under normal

Crack your CA CS CMA Exams in 1 Attempt -Join CA Mentoring Program if you are unable to manage/focus on your studies.
Batch 1: Working Students (Job) Batch 2: Doing Classes Batch 3: Full time available for Studies Batch 4: Married Students

all subiects free Question Bank

Visit CAmentoringprogram.org | WhatsApp +91 7890770777 | Telegram https://t.me/caraviagarwaloriginal

Pafze28



https://camentoringprogram.org/
https://api.whatsapp.com/send/?phone=917890770777&text&type=phone_number&app_absent=0
https://t.me/caraviagarwaloriginal

Dr. CA Ravi Agarwal's CA Inter Taxation Compiler 6.0 Score 70+ in Taxation

Paper 3 - Taxation

Mr. Sharma aged 62 years and a resident in India, has a total income of
%2,30,00,000, comprising long term capital gain taxable under section 112 of X
52,00,000, short term capital gain taxable wunder section 111A of
364,00,000 and other income of ¥ 1,14,00,000. Compute his tax liability for
A.Y.2024-25 under the default tax regime and optional tax regime as per the normal
provisions of the Act assuming that the total income and its components are the
same in both tax regimes.
Answer 11
Computation of tax liability of Mr. Sharma for the A.Y.2024-25 under default

tax regime

Particulars 3
Tax on total income of X 2,30,00,000
Tax@20% of X 52,00,000 10,40,00
0
Tax@]15% of X 64,00,000 9,60,000
Tax on other income of ¥ 1,14,00,000
% 3,00,000 - % 6,00,000 @5% 15,000
% 6,00,000 - % 9,00,000 @10% 30,000
% 9,00,000 - % 12,00,000 @15% 45,000
% 12,00,000 - % 15,00,000 @20% 60,000
% 15,00,000 - % 1,14,00,000 @30% 29,70,00| 31,20,00
0 0
51,20,00
0
Add: Surcharge @15% 7,68,000
58,88,00
0
Add: Health and education cess @4% 235,520
Tax Liability 61,23,52
0

Computation of tax liability of Mr. Sharma for the A.Y.2024-25under normal
provisions of the Act

Particulars %

Tax on total income of X 2,30,00,000

Tax@20% of X 52,00,000 10,40,000

Tax@15% of X 64,00,000 9,60,000

Tax on other income of % 1,14,00,000

% 3,00,000 - X 5,00,000 @5% 10,000

% 5,00,000 - % 10,00,000 @20% 1,00,000

% 10,00,000 - % 1,14,00,000 @30% 31,20,000, 32,30,000
52,30,000

Add: Surcharge @15% 7,84,500
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60,14,500
Add: Health and education cess @4% 2,40,580
Tax Liability 62,55,080

Question ILLUSTRATION 12
Mr. B grows sugarcane and uses the same for the purpose of manufacturing sugar
in his factory. 30% of sugarcane produce is sold for ¥ 10 lakhs, and the cost of
cultivation of such sugarcane is ¥ 5 lakhs. The cost of cultivation of the balance
sugarcane (70%) is ¥ 14 lakhs and the market value of the same is ¥ 22 lakhs. After
incurring ¥ 1.5 lakhs in the manufacturing process on the balance sugarcane, the
sugar was sold for ¥ 25 lakhs. Compute B’s business income and agricultural

income.
Answer 12
Computation of Business Income and AgricultureIncome of Mr. B
Particulars Busines | Agricultural
s Income
Incom
e

®) ®) ®)

Sale of Sugar

Business income
Sale Proceeds of sugar 25,00,000

Less: Market value of 22,00,000
sugar-cane (70%)

Less: Manufacturing exp. 1,50,000

1,50,000| 22,00,00

Agricultural income

14,00,00
Market value of 0
sugarcane
(70%)

Pafzego
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Less: Cost of cultivation
8,00,00
0
Sale of sugarcane
Agricultural Income
Sale proceeds of 10,00,000
sugarcane(30%)
Less: Cost of cultivation 5,00,000
5,00,000
13,00,00
0

Question ILLUSTRATION 13
Mr. C manufactures latex from the rubber plants grown by him in India. These are
then sold in the market for ¥ 30 lakhs. The cost of growing rubber plants is ¥ 10
lakhs and that of manufacturing latex is ¥ 8 lakhs. Compute his total income.
Answer 13

The total income of Mr. C comprises of agricultural income and
business income.

Total profits from the sale of latex= ¥ 30 lakhs — ¥ 10 lakhs —% 8 lakhs=1% 12
lakhs.

Agricultural income = 65% of X 12 lakhs =X 7.8 lakhsBusiness income
= 35% of ¥ 12 lakhs =X 4.2 lakhs

Question ILLUSTRATION 14
Mr. X has a total income of % 16,00,000 for P.Y.2023-24, comprising of income from
house property and interest on fixed deposits. Compute his tax liability for
A.Y.2024- 25 under the default tax regime under section 115BAC.

Answer 14
Computation of Tax liability of Mr. X for A.Y. 2024-25
Tax liability:

First ¥ 3,00,000 - Nil
Next X 3,00,001 - % 6,00,000 - @5% of X 3,00,000 | = % 15,000
Next % 6,00,001 — % 9,00,000 -@10% of = % 30,000
3,00,000
Next % 9,00,001 - 12,00,000 -@15% of = % 45,000
3,00,000
Next % 12,00,001 - 15,00,000 - @20% of X = % 60,000
3,00,000
Balance i.e., ¥ 16,000,000 minus X - @30% of X = 330,000
15,00,000 1,00,000
= | ¥,80,000

Pafze3 1
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Add: Health and Education =
cess@4%

7,200

= 1%1,87,200

Question ILLUSTRATION 15
Mr. X has a total income of ¥ 16,00,000 for P.Y.2023-24, comprising of income from
house property and interest on fixed deposits. Compute his tax liability for
A.Y.2024- 25 assuming his age is -

(a) 45 years
(b) 63 years

(c) 82 years
Assume that Mr. X has exercised the option to shift out/ opt out of the default
tax regime.
Answer 15
Computation of Tax liability of Mr. X (aged 45 years)

Tax liability:
First ¥ 2,50,000 - Nil
Next 2 2,50,001 —% 5,00,000 - @5% of X 2,50,000 = | 12,500
Next % 5,00,001 - 10,00,000 - @20% of % = %
5,00,000 1,00,000
Balance i.e., ¥ 16,00,000 minus X - @30% of X 3
10,00,000 6,00,000 1,80,000
g
2,92,500
Add: Health and Education cess@4% 211,700
%3,04,20
o
Computation of Tax liability of Mr. X (aged 63 years)
Tax liability:
First ¥ 3,00,000 - Nil
Next ¥ 3,00,001 - % 5,00,000 - @5% of X % 10,000
2,00,000
Next X 5,00,001 - % 10,00,000 - @20% of £d
5,00,000 1,00,000
Balance i.e., ¥ 16,00,000 minus - @30% of % g
10,00,000 6,00,000 1,80,000
4
2,90,000
Add: Health and Education cess@4% 311,600
%3,01,600
Computation of Tax liability of Mr. X (aged 82 years)
Tax liability:
First ¥ 5,00,000 - Nil
Next ¥ 5,00,001 - % 10,00,000 - @ 20% of %
5,00,000 1,00,000 o\
Balance i.e., ¥ 16,00,000 minus 2 - @ 30% of X E4 ™
10,00,000 6,00,000 1,80,000 %
[a N
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Add: Health and Education cess@4%

= | %2,80,000
= 11,200

= [%2,91,200

Question ILLUSTRATION 16

Compute the tax liability of Mr. A (aged 42), having total income of ¥ 51 lakhs for
the Assessment Year 2024-25. Assume that his total income comprises of salary
Assume

income, Income from house property and interest on fixed deposit.
that Mr. A has exercised the option to shift out of section 115BAC.
Answer 16
Computation of tax liability of Mr. A for the A.Y.2024-25
A | Income-tax (including surcharge) computed on total income |33 51,00,000
of
% 2,50,000 -% 5,00,000 @5% 312,500
%35,00,001 -% 10,00,000 @20% % 1,00,000
%10,00,001 -% 51,00,000 @30% %
12,30,000
Total £4
13,42,500
Add: Surcharge @ 10% % 1,34,250 £
14,76,750
B | Income-tax computed on total income of ¥ 50 %13,12,500
lakhs
(X 12,500 plus % 1,00,000 plus X 12,00,000)

C | Total Income Less % 50 lakhs % 1,00,000
D Income-tax computed on total income of X 50 14.12.5 O;
lakhs plus the excess of total income over X 50 e

lakhs (B +C)
E | Tax liability: lower of (A) and (D) 3
14,12,500
Add: Health and education cess @4% %.56,500
Tax liability (including cess) ¢
14,69,000
F | Marginal Relief (A — D) 2 64,250
Alternative method -
A | Income-tax (including surcharge) computed on total income of
X3 51,00,000
% 12,500
% 2,50,000 -% 5,00,000@5%
% 1,00,000
%5,00,001 -%10,00,000@20%
%12,30,000
%¥10,00,001 -% 51,00,000@30%
%13,42,500
Total
% 1,34,250 £
Add: Surcharge@10% 14,76,750
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B | Income-tax computed on total income of ¥ 50 13.12 50;
lakhs (X 12,500 plus % 1,00,000 plus X T
12,00,000)

% 1,64,250

C | Excess tax payable (A)-(B)

. . . % 64,250
Marginal Relief (X 1,64,250 — X 1,00,000, being
the amount of income in excess of ¥ 50,00,000)
%

E | Tax liability (A)-(D) 14,12,500

) % 56,500

Add: Health and education cess @4%
%
Tax liability (including cess) 14,69,000

Question ILLUSTRATION 17
Compute the tax liability of Mr. B (aged 51) under the default tax regime, having
total income of ¥ 1,01,00,000 for the Assessment Year 2024-25. Assume that his
total income comprises of salary income, Income from house property and interest
on fixed deposit.

Answer 17

Computation of tax liability of Mr. B for the A.Y. 2024-25

%1,01,00,000
A | Income-tax (including surcharge) computed on
total income of
%1
% 3,00,000 - % 6,00,000@5% 5,000
g
% 6,00,001 — 2 9,00,000@10% 30,000
2 9,00,001 - % 12,00,000@15% 345,000
g
% 12,00,001 - % 15,00,000@20% 60,000
2 15,00,001 — 325,80,000
%1,01,00,000@30%
%27,30,000
Total
Add: Surcharge@15% % 4,09,500
Tax liability without marginal 331,339,500
relief
B | Income-tax computed on total income of X 1 crore ¥27,00,000
(X 1,50,000 plus X 25,50,000)
2,7
Add: Surcharge@10% 2,70,000
% 29,70,000
1
C | Total Income Less % 1 crore ;00,000
Income-tax computed on total income of X 1 crore ¥30,70,000
plus the excess of total income over X 1 crore (B +C)
E | Tax liability: lower of (A) & (D) % 30,70,000
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Add: Health and education cess
@4%

% 1,22,800

Tax liability (including cess)

X 31,92,800

F

Marginal relief (A-D)

369,500

Alternative method:

A

Income-tax (including surcharge) computed on total

income of

31,01,00,000

X 3,00,000 - 6,00,000@5%

% 15,000

% 6,00,001 -%9,00,000@10%

X 30,000

X 9,00,001 -% 12,00,000@15%

X 45,000

X 12,00,001 -% 15,00,000@20%

% 60,000

3 15,00,001 — % 1,01,00,000@30%

3
25,80,000

Total

N
27,30,000

Add: Surcharge @ 15%

X 4,09,500

¥ 31,39,500

Income-tax computed on total income of X 1
crore

[} 1,50,000 plus X 25,50,000) plus
surcharge@10%]

3 29,70,000

Excess tax payable (A)-(B)

2 1,69,500

Marginal Relief (X 1,69,500 - 1,00,000,
being the amount of income in excess of
1,00,00,000)

69,500

Tax liability (A) - (D)

3 30,70,000

Add: Health and education cess @4%

3 1,22,800

Tax liability (including cess)

¥ 31,92,800

Question ILLUSTRATION 18

Compute the tax liability of Mr.
2,01,00,000 for the Assessment Year 2024-25. Assume that his total income
comprises of salary income, Income from house property and interest on fixed
deposit. Assume that Mr. C has exercised the option to shift out of section 115BAC.
Answer 18

C (aged 58),

having total income ofR

Computation of tax liability of Mr. C for the A.Y. 2024-25

Income-tax (including
surcharg
e)

Computed on total income
of
%2,01,00,000
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X 2,50,000 -% 5,00,000 @ | X 12,500
5%
X 5,00,001 -% 10,00,000 @| X 1,00,000
20%

% 10,00,001 - % 357,30,00
2,01,00,000@30% 0

Total R
58,42,500
Add: Surcharge @ 25% %14,60,625 X 73,03,125

Income-tax computed on

total income of X 2 crore

(X 12,500 plus % 1,00,000
lus %57

plus 257,00,000) 2 58,12,500

Add: Surcharge@15% %8,71,875

366,84,3
75
Total Income Less X 2 % 1,00,000
crore
Income-tax computed on
total income of X 2 crore
plus the excess of total
income over X 2 crore ( B + R 67,84,375
C)
Tax liability (A) or (D), X 67,84,375
whichever is lower
Add: Health and education 2 2,71,375
cess @4%
Tax liability (including 3 70,55,750
cess)
Marginal relief (A-D) X 5,18,750

Alternative method

Income tax (including surcharge)

Computed on total income of
%2,01,00,000

3 2,50,000 - 2 5,00,000 @ 5% 2 12,500

% 5,00,001 -% 10,00,000 @ 20% % 1,00,000

%X 10,00,001 - %¥57,30,000
%2,01,00,000@30%

Total ¥58,42,500

Add:

o
Surcharge@25% 214.60.625 373,03,125

Income-tax computed on total
income of X 2 crore [(R 12,500

Pafze3 5
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plus X 1,00,000 plus X 57,00,000)

366,84,375
plus surcharge@15%|
Excess tax % 6,18,750
payable (A)-(B)
Marginal Relief (R 6,18,750 — X 3.5,18,750
1,00,000, being the amount of
income in excess of ¥ 2,00,00,000)
Tax liability (A) — 367,84,375
(D)
Add: Health and 32,71,375
educationcess@4%
Tax liability g
(including cess) 70,55,750

Question ILLUSTRATION 19

Answer 19

¥

Computation of tax liability of Mr. D under optional tax
regimefor the A.Y. 2024-25

Compute the tax liability of Mr. D (aged 65) in a most beneficial manner. He is
having total income of ¥ 5,01,00,000 for the Assessment Year 2024-25. Assume
that his total income comprises of salary income, Income from house property and
interest on fixed deposit and is the same under both tax regimes.

Income-tax (including surcharge) computed on total income | X
of 5,01,00,000
% 3,00,000 - % 6,00,000@5% % 15,000
% 6,00,001 - % 9,00,000010% % 30,000
— 0,
%.9,00,001 - % 12,00,000@15% 2 45,000
— o,
% 12,00,001 - % 15,00,000@20% 2 60,000
— o,
% 15,00,001 - % 5,01,00,000@30% 21.45.80.000
Total 21,47,30,000
Add: Surcharge@25% %
—336.82.500 | ; g4 12 500
Add: Health and education cess @4% %7,36,500
Tax liability i
¥ 11,91,49,000

Computation of tax liability of Mr. D under optional tax
regimefor the A.Y. 2024-25

(A) Income-tax (including surcharge) computed on total income of

3 5,01,00,000
z 3,00,000 - 2 5,00,000 @ 5% 2 10,000
3 5,00,001 - 2 10,00,000 @ 20% 2 1,00,000
2 10,00,001 — % 5,01,00,000@30% | Z_1,47,30,000
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Total % 1,48,40,000
Add: Surcharge @ 37% %.54,90,800 R4
2,03,30,800

Income-tax computed on 25

total income of crore

(X 10,000 plus % 1,00,000 %1,48,10,000

plus % 1,47,00,000)

Add: Surcharge@?25% %37,02,500

%1,85,12,500

Total Income Less X5 % 1,00,000

crore

Income-tax computed on
total income of %5 crore plus
the excess of total income
over %5 crore (B + C)

31,86,12,500

Tax liability (A) or (D), % 1,86,12,500
whichever is lower

Add: Health and education 7,44,500
cess@4%

Tax liability (including cess) ¥1,93,57,000

Marginal Relief (A - D)  17,18,300

Alternative method

Income-tax (including
surcharge) computed

on total
income of ¥ 5,01,00,000

% 3,00,000 -% % 10,000
5,00,000@5%

2 5,00,001 — % 3 1,00,000
10,00,000@20%

¥ 10,00,001 -% 3 1.,47,30,000
5,01,00,000@30%

Total % 1,48,40,000

Add: Surcharge @ 37% %.54,90,800 4
2,03,30,800

Income-tax computed on
total income of ¥ 5 crore

[(R 10,000 plus X 1,00,000
plus 2 1,47,00,000)
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R
1,85,12,500
Excess tax payable (A)-(B) % 18,18,300
Marginal Relief (2
18,18,300 - % 1,00,000
being the amount of
income in excess 2 % 17,18,300
5,00,00,000)
.. 4
Tax liability (A) - (D) 1,86,12,500
Add: Health and
education cess @4% X7,44,500
Tax liability (including ¥ 1,93,57,000
cess)

It is beneficial for Mr. D to pay tax under default tax regime under section
115BAC, since his tax liability would be lower by % 2,08,000 (X 1,93,57,000 -X
1,91,49,000).

Question ILLUSTRATION 20
Mr. Raghav aged 26 years and a resident in India, has a total income of X 6,50,000,
comprising his salary income and interest on bank fixed deposit. Compute his tax
liability for A.Y.2024-25 under default tax regime under section 115BAC.

Answer 20

Computation of tax liability of Mr. Raghav for A.Y. 2024-25

Particular £d
s
Tax on total income of T 6,50,000
Tax@10%of X 50,000 +3 15,000 20,000
Less: Rebate u/s 87A (Lower of tax payable or X 25,000) 20,000
Tax Liability & Nil

If
total income of such individual exceeds X 7,00,000 and income-tax payable on
such total income exceeds the amount by which the total income is in excess of
7,00,000, the rebate would be as follows.

Step 1 — Total income (-) X 7 lakhs (A)
Step 2 - Compute income-tax liability on total income (B) Step 3 - If B>A, rebate

under section 87A would be a B — A.

The amount of rebate under section 87A shall not exceed the amount of income-
tax (as computed before allowing such rebate) on the total income of the assesses.

Question ILLUSTRATION 21
Mr. Pawan aged 35 years and a resident in India, has a total income of ¥ 7,15,000,
comprising his salary income and interest on bank fixed deposit. Compute his tax
liability for A.Y.2024-25 under default tax regime under section 115BAC.
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Answer 21

Computation of tax liability of Mr. Pawan for A.Y. 2024-25

Particular £d
s

Step 1: Total Income of X 7,15,000 - X 7,00,000 15,000 (A)
Step 2: Tax on total income of X 7,15,000

Tax@10%o0f X 1,15,000 + X 15,000 26,500 (B)
Step 3: Since B>A, rebate u/s 87A would be B-A

R 26,500 - % 15,000] 11,500

15,000

Add: HEC@4% 600
Tax Liability 15,600

Rebate to a resident individual paying tax under optional tax regime (normal

provisions of the Act)

amount of 12,500fwhichever is less.

he is chargeable for any assessment year.

Question ILLUSTRATION 22

regime.
Answer 22

Computation of tax liability of Mr. Piyush for A.Y. 2024-25

If total income of such individual does not exceed X 5,00,000, the rebate shall be equal
to the amount of income-tax payable on his total income for any assessment year or an

The amount of rebate under section 87A shall not exceed the amount of income-tax (as
computed before allowing such rebate) on the total income of the assessee with which

Mr. Piyush, aged 35 years and a resident in India, has a total income of ¥ 4,15,000,
comprising his salary income and interest on bank fixed deposit. Compute his tax
liability for A.Y.2024-25 if he exercises the option to shift out of the default tax

Particular £d
S
Tax on total income of ¥ 4,15,000
Tax@5%o0f 1,65,000 8,250
Less: Rebate u/s 87A (Lower of tax payable or X 12,500) 8,250
Tax Liability Nil

Question ILLUSTRATION 23

2023-24.
i. Income from salary (computed)
ii. Income from house property (computed)

iii. Agricultural income from a land in Jaipur

- 3 4,80,000
- ¥2,50,000
- 3 4,80,000

all subiects free Question Bank
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iv. Expenses incurred for earning agricultural income - % 1,70,000
Compute his tax liability for A.Y. 2024-25 assuming his age is -
(a) 45 years

(b) 70 years
Answer 23
(A) Computation of tax liability (age 45 years)
Computation of total income of Mr. X for the A.Y.

2024-25 underdefault tax regime under section 115BAC
For the purpose of partial integration of taxes, Mr. X has
satisfied both theconditions i.e.
1. Net agricultural income exceeds % 5,000 p.a., and
2. Non-agricultural income exceeds the basic exemption limit of X

3,00,000.His tax liability is computed in the following manner:

Particular % %
s

Income from salary 4,80,000
Income from house property 2,50,000
Net agricultural income [ 4,80,000 - X 3,10,000

1,70,000]

Less: Exempt under section 10(1) (3,10,000) -
Gross Total Income 7,30,000
Less: Deductions under Chapter VI-A -
Total Income 7,30,000

Step 1: X 7,30,000 + % 3,10,000 =% 10,40,000 Tax on X 10,40,000 =3 66,000

(i.e., 5% of T 3,00,000 plus 10% of X 3,00,000 plus 15% of

% 1,40,000)

Step 2: % 3,10,000 + % 3,00,000 =X 6,10,000
Tax on X 6,10,000 = % 16,000
(i.e. 5% of X 3,00,000 plus 10% of X 10,000)
Step 3: % 66,000 - 16,000 =X 50,000
Step 4 & 5: Total tax payable = T 50,000
=3 50,000 + 4% of * 50,000 = % 52,000.

Computation of total income of Mr. X for the A.Y. 2024-25 undernormal
provisions of the Act

For the purpose of partial integration of taxes, Mr. X has satisfied both
theconditions i.e.
3. Net agricultural income exceeds X 5,000 p.a., and

4. Non-agricultural income exceeds the basic exemption limit of X 2,50,000.His
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Particular £4 £4

s
Income from salary 4,80,00
0
Income from house property 2,50,00
. . 3,10,000 0
Net agricultural income [ 4,80,000 - % 3.10.000
1,70,000] (3,10,000)
Less: Exempt under section 10(1) -
Gross Total Income 7,30,00
Less: Deductions under Chapter VI-A 0
Total Income B
7,30,00
0
liability is computed in the following manner:
Step 1:X 7,30,000 + X 3,10,000 =% 10,40,000
Tax on X 10,40,000 =% 1,24,500
(i.e., 5% of % 2,50,000 plus 20% of % 5,00,000 plus 30% of
% 40,000)
Step 2: % 3,10,000 + % 2,50,000 =X 5,60,000
Tax on X 5,60,000 =% 24,500

(i.e. 5% of ¥ 2,50,000 plus 20% of X 60,000)
Step 3: 2 1,24,500 - % 24,500 = % 1,00,000
Step 4 & 5 : Total tax payable = X 1,00,000
=3 1,00,000 + 4% of X 1,00,000 =% 1,04,000.

(B) Computation of tax liability (age 70 years)
Computation of total income of Mr. X for the A.Y.

2024-25 underdefault tax regime under section 115BAC

Tax liability of Mr. X would be same under default tax regime
whether he isof age of 45 years of 70 years i.e., T 52,000.
Computation of total income of Mr. X for the A.Y. 2024-25
undernormal provisions of the Act
His tax liability is computed in the following manner:

Step 1: 3 7,30,000 + % 3,10,000 = % 10,40,000

Tax on X 10,40,000 =3 1,22,000
(i.e., 5% of T 2,00,000 plus 20% of X 5,00,000 plus 30% of
% 40,000)
Step 2: % 3,10,000 + % 3,00,000 = % 6,10,000
Tax on % 6,10,000 =3 32,000
(i.e. 5% of X 2,00,000 plus 20% of X 1,10,000)
Step 3:% 1,22,000 - X 32,000 =3 90,000
Step 4 & 5: Total tax payable = ¥ 90,000

Visit CAmentoringprogram.org | WhatsApp +91 7890770777 | Telegram https://t.me/caraviagarwaloriginal
all subiects free Question Bank

tax

Crack your CA CS CMA Exams in 1 Attempt -Join CA Mentoring Program if you are unable to manage/focus on your studies.
Batch 1: Working Students (Job) Batch 2: Doing Classes Batch 3: Full time available for Studies Batch 4: Married Students

Pa£e42



https://camentoringprogram.org/
https://api.whatsapp.com/send/?phone=917890770777&text&type=phone_number&app_absent=0
https://t.me/caraviagarwaloriginal

Dr. CA Ravi Agarwal's CA Inter Taxation Compiler 6.0 Score 70+ in Taxation

Paper 3 - Taxation

=13 90,000 + 4% of X 1,00,000 =% 93,600.
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Chapter 2
RESIDENCE AND SCOPE OF TOTAL INCOME

Attempt wise Distribution

Atte May' | Nov' | May' Nov' | Nov' Jan' Jul' Dec' | May' | Nov' | May' | Nov'
mpts | 18 18 19 19 20 21 21 21 22 22 23 23
MCQ

Q5,Q14 Q8,Q13 Q9,Q11
MTP ,Q15 Q7 |,Q16 ,Q12 Q10 | Q6 Q4
RTP Q3,Q17 Q2,Q18 Q19 Q1
Q&A
Q14, | Q15, Q1s, Q12, Q11,
MTP | Q13 | Q22 | Q21 Q20 Q19 Q17 | Q23 | Q24 | Q25 | Q35
Q3,Q6 Q1,Q
PYP Q36 | Q5 Q4 Q33 | Q30 ,Q31 Q29 Q32 | Q2 34
Q18,
RTP Q10 Q26 Q37 | Q27 Q9 Q8 | Q28 | Q7
Section A

MULTIPLE CHOICE QUESTIONS (MCQS)

1. Mr. Rajesh, aged 53 years, and his wife, Mrs. Sowmya, aged 50 years, are citizens
of Country X. They are living in Country X since birth. They are not liable to tax
in Country X. Both of them have keen interest in Indian Culture. Mr. Rajesh’s
parents and grandparents were born in Country X. Mrs. Sowmya visits India along
with Mr. Rajesh for four months every year to be with her parents, who were born
in Delhi and have always lived in Delhi. During their stay in India, they organize
Cultural Programme in Delhi-NCR. Income of Mr. Rajesh and Mrs. Sowmya from
the Indian sources for the P.Y. 2021 -22 is ¥ 18 lakhs and X 16 lakhs, respectively.
What is the residential status of Mr. Rajesh and Mrs. Sowmya for A.Y.2022 -23?

(a) Both are resident and ordinarily resident in India
(b) Both are non-resident in India
() Mr. Rajesh is resident but not ordinarily resident in India and Mrs. Sowmya
is non- resident
(d) Mrs. Sowmya is resident but not ordinarily resident in India and Mr. Rajesh
is non- resident (RTP May ’22)
Ans: (d)

2, Mr. Nishant, a resident but not ordinarily resident for the previous year 2018-19
and resident and ordinarily resident for the previous year 2019-20 has received
rent from property in Canada amounting to ¥ 1,00,000 during the P.Y.2018-19.
He has deposited the same in a bank in Canada. During the financial year 2019-
20, he remitted this amount to India through approved banking channels. Is such
rent taxable in India, and if so, how much and in which year?

(a) Yes; X 70,000 was taxable in India during the previous year 2018-19.
(b) Yes; % 1,00,000 was taxable in India during the previous year 2018-19.
(c) Yes; ¥ 70,000 was taxable in India during the previous year 2019-20.
(d) No; such rent is not taxable in India either during the previous year 2018-19 or
during the previous year 2019-20. (RTP Nov ’20)
Ans: (d)
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Aashish earns the following income during the P.Y. 2018-19:
e Interest on U.K. Development Bonds (1/4th being received in India):
%4,00,000

e Capital gain on sale of a building in India but received in Holland: ¥ 6,00,000
If Aashish is a resident but not ordinarily resident in India, then what will be
amount of income chargeable to tax in India for A.Y. 2019-20?

(&) X 7,00,000

(b) % 10,00,000

(c) 26,00,000

(d) % 1,00,000 (RTP May’19)
(a)

Who among the following will qualify as non-resident for the previous year 2021-
22?
- Mr. Bob, an Italian dancer, came on visit to India to explore Indian dance on 15.09.2021
and left on 25.12.2021. For past four years, he visited India for dance competition and
stayed in India for 120 days each year.
Mr. Samrat born and settled in USA, visits India each year for 100 days to meet his
parents and grandparents, born in India in 1946, living in Delhi. His Indian income is X
15,20,000.
Mr. Joseph, an American scientist, left India to his home country for fixed employment
there. He stayed in India for study and research in medicines from 01.01.2017 till
01.07.2021.
Choose the correct answer

(@) Mr. Bob and Mr. Joseph

(b) Mr. Samrat

() Mr. Bob, Mr. Samrat and Mr. Joseph

(d) None of the three = (MTP 2 Marks Oct’22)
(b)

Which of the following statements is true for companies in the context of the
Income-tax Act, 19617
(a) Residential status of a company has an impact on the tax rate of company
(b) Tax Rate of a company depends upon the place of incorporation
(c) Residential status of a company helps to classify the company as domestic
company and foreign company
(d) Residential status of company helps classification of closely held company and
widely held company. (MTP 1 Mark, March’19)
(b)

Mr. Sushant is a person of Indian origin, residing in Canada. During P.Y. 2021-22,
he visited India on several occasions and his period of stay, in total, amounted to
129 days during P.Y. 2021-22 and his period of stay in India during P.Y. 2020-21,
P.Y.2019-20, P.Y. 2018-19 and P.Y. 2017-18 was 135 days, 115 days, 95 days and
125 days, respectively. He earned the following incomes during the P.Y. 2021-22:

Source of Amount
Income (X)
Income received or deemed to be received in India 2,50,000

Income accruing or arising or which is deemed to accrue or | 3,75,000
arise in India
Income accruing or arising and received outside India from | 5,50,000
business controlled from India
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Income accruing or arising and received outside India from | 6,50,000
business controlled outside India

What is the residential status of Mr. Sushant for A.Y. 2022-23 and his income
liable to tax in India during A.Y. 2022-23

(a) Non-Resident; 36,25,000 is liable to tax in India

(b) Resident and ordinary resident; ¥18,25,000 is liable to tax in India

() Resident but not ordinarily resident; X 11,75,000 is liable to tax in India

(d Non-Resident; ¥11,75,000 is liable to tax in India (MTP 2 Marks April 22)

(a)

Mr. Vikesh, a US citizen, came to India for an assignment from 11.01.2015 to
09.10.2015 and went back to his home country on completion of the same. He
thereafter, visited India on 05.07.2017 again for an assignment, which ended on
26.05.2018. What is the latest date by which Mr. Vikesh should depart from India
after completing the assignment so as to qualify as non-resident for P.Y. 2018-19?
(Assume that he shall not be visiting India again during the year)

(a) 29-05-2018

(b) 30-05-2018

() 29-09-2018

(d) 28-09-2018 (MTP 2 Marks, Oct’19, Mar 19)
(a)

Mr. Square, an Indian citizen, currently resides in Dubai. He came to India on a
visit and his total stay in India during the F.Y. 2019-20 was 135 days. He has no
source of Income in India. Following is his details of stay in India in the preceding
previous years:

Financial Year Days of Stay in India
2018-19 125

2017-18 106

2016-17 83

2015-16 78

2014-15 37

2013-14 40

2012-13 35

You are his tax consultant. Advise him on his residential status for the P.Y. 2019-
20.
(a) Resident but Not Ordinary Resident (RNOR)
(b) Resident and Ordinary Resident
(c) Non-Resident
(d) Resident but information incomplete to know whether resident but not
ordinarily resident or resident and ordinarily resident (MTP 2 Marks, Oct’20)

(c)

Lister Internationals Inc., a non-resident, engaged in business of selling “Good Z”
appoints Mr. Risky as an agent in India for selling such product. Mr. Risky works
as an agent for several other persons also including nonresidents aiding them in
selling their products. The appointment of Mr. Risky will -

(a) lead to business connection in India as he is not independent agent

(b) lead to business connection in India as he is an independent agent

(c) not lead to business connection in India as he is not independent agent

(d) not lead to business connection in India as he is an independent agent (MTP 1

Mark, April’21)
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(d)

Determine residential status of Sandarac (HUF) which carries out its transactions
in Malaysia. Its affairs are partly controlled from India. The Karta of HUF, Mr.
Sandarac who is from Chennai visits India on 01.06.2019 and leaves to Malaysia
on 10.02.2020. He has not visited India for the past 11 years.

(a) Non-resident

(b) Resident but not ordinarily resident

(c) Deemed resident

(d) Resident and ordinarily resident (MTP 2 Marks, Nov’21)

(b)

Mr. Mango, an Indian citizen, lives in New York, USA since the last 10 years. He
has a penthouse in Mumbai, given on rent @2,00,000 per month. During the year
2020-21, he came to India for 152 days in aggregate. His total stay in India in the
immediately preceding 4 previous years is 366 days. You are, being the tax
consultant of Mr. Mango, advise him about his residential status for the A.Y. 2021-
22.

(a) Non-Resident

(b) Resident but not ordinary resident

(c) Resident and ordinary resident

(d) Deemed resident (MTP 2 Marks, April’21)

(b)

Mr. Harry, an Indian citizen, is a marketing consultant who provides consultancy
to various countries around the globe. Due to his profession, he is required to
travel across various countries throughout the year. His marketing project does
not last for more than 40 days and t therefore his stay in any country including
India usually never exceeds 40 days during a year. His income is Rs. 80 lakhs
across the globe which is not liable to tax in any country. During the P.Y. 2020-
21, an Indian company provides him a marketing project in India. His stay in India
for the project is expected to be only 25 days and his income from that project
would be Rs. 30 lakhs. Being a highly qualified professional, he consults you about
the tax regime on his income and his residential status in India.
(@) He shall be treated as resident but not ordinarily resident and shall be liable
to pay tax on Rs. 30 lakhs.
(b) He shall be treated as resident and ordinarily resident and shall be liable to
pay tax on Rs. 80 lakhs.
() He shall be treated as non-resident and shall not be liable to any tax.
(d) He shall be treated as resident but not ordinarily resident and shall be liable
to pay tax on his entire income of Rs. 80 lakhs earned across the globe. (MTP
2 Marks,March’21)

(a)

Mr. Raj, an Indian citizen and a Government employee, left India for the first time
on 25.03.2019 on account of his transfer to High Commission in Singapore. During
P.Y. 2019-20, he visited India only for ten days on occasion of his sister’s marriage.
During F.Y. 2019-20, his income composition includes salary, foreign allowances,
rent from property in Singapore and interest earned from fixed deposits
maintained with SBI. His taxable income for P.Y. 2019-20 will include:

(a) All of them, since Mr. Raj is a resident in India, hence his global income will

be taxable
(b) Only interest earned from fixed deposits maintained in India
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() No income shall be taxable since Mr. Raj is a non-resident in India for P.Y.
2019-20
(d) Salary and interest income of fixed deposits with SBI (MTP 2 Marks, May’20,
Apr’19)
(d)

On 31.08.2018, Mr. Kashyap moved to Japan for employment. His family
accompanied him, owing to long term nature of employment. Mrs. Kashyap is also
planning to start a fashion boutique in Japan soon, once e she gets settled. Both
Mr. & Mrs. Kashyap are Indian citizens and have been working in India for more
than a decade now. Comment on their residential status for A.Y. 2019-20,
assuming they did not visit India after August 2018
() Mr. & Mrs. Kashyap will qualify to be non-resident
(b) Mr. Kashyap will qualify to be non-resident and Mrs. Kashyap will be
resident but not ordinarily resident
() Mr. Kashyap will qualify to be non-resident and Mrs. Kashyap will be
resident and ordinarily resident (MTP April’19, 1 Marks)

(c)

Which of the following incomes is not deemed to accrue or arise in India under
section 9(1)(i) of the Income-tax Act, 19617?

(@) Income from any business connection in India

(b) Income through or from any property in India

(c) Income arising from transfer of a capital asset situated in India

(d) Income relating to operations which are confined to purchase of goods in India

for the purpose of export (MTP 1 Mark, April’19)

(d)

Mr. Ramesh, a citizen of India, is employed in the Indian embassy in the Australia.
He is a non-resident for A.Y. 2020-21. He received salary and allowances in the
Australia from the Government of India for the year ended 31.03.2020 for services
rendered by him in the Australia. In addition, he was allowed perquisites by the
Government. Which of the following statements are correct?
(@) Salary, allowances and perquisites received outside India are not taxable in the
hands of Mr. Ramesh, since he is non-resident.
(b) Salary, allowances and perquisites received outside India by Mr. Ramesh are
taxable in India since they are deemed to accrue or arise in India.
(c) Salary received by Mr. Ramesh is taxable in India but allowances and perquisites
are exempt.
(d) Salary received by Mr. Ramesh is exempt in India but allowances and perquisites
are taxable. (MTP 2 Marks, May’20)

(c)

Mr. Sumit is an Indian citizen and a member of the crew of an America bound
Indian ship engaged in carriage of freight in international traffic departing from
Kochi on 25th April, 2018. From the following details for the P.Y. 2018-19,
determine the residential status of Mr. Sumit for A.Y. 2019-20, assuming that his
stay in India in the last 4 previous years preceding P.Y. 2018-19 is 365 days and
last seven previous years preceding P.Y. 2018-19 is 730 days:

Date entered in the Continuous Discharge Certificate in respect of joining the ship
by Mr. Sumit: 25th April, 2018 Date entered in the Continuous Discharge
Certificate in respect of signing off the ship by Mr. Sumit: 24th October, 2018
Mr. Sumit has been filing his income tax return in India as a Resident for previous
2 years. What is his residential status for A.Y. 2019-20:
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(a) Resident and ordinarily resident

(b) Resident but not-ordinarily resident

() Non-resident

(d Non-resident till 24.10.2018 and resident till 31.03.2019 (RTP May’19, MTP 2
Marks Sep ’23)

(a)

Mr. Suhaan (aged 35 years), a non-resident earned dividend income of ¥ 12,50,000
from an Indian Company which is credited directly to its bank account
in France and ¥ 15,000 as interest in Saving A/c from State Bank of India
during the previous year 2018- 19. Assuming that he has no other income, what
will be amount of income chargeable to tax in his hands in India for A.Y. 2019-
20?

(@) %2,55,000
(b) % 2,65,000
(c) % 15,000

(d) % 5,000 (RTP May ’20)
(d)

Mr. Tejas, an Indian Citizen, left India permanently with his wife and two children,
for extending his retail trade business of toys in Canada in the year 2015. From
Canada, he is managing his retail business of toys in India. For the purpose his
Indian business, he visits India every year from 1lst September to 31st January.
His business income is ¥ 23.50 lakhs and ¥ 18 lakhs from retail trade business in
Canada and in India, respectively for the F.Y. 2020-21. He has no other income
during the P.Y. 2020-21. Determine his residential status and income taxable in
his hands for the A.Y. 2021-22.
(a) Resident and ordinarily resident in India and income of ¥ 18 lakhs and % 23.50
lakhs would be taxable.
() Non-Resident and X 18 lakhs from Indian retail trade business would only be
taxable.
() Resident but not ordinarily Resident and % 18 lakhs from Indian retail trade
business would only be taxable.
(d Deemed resident and X 18 lakhs from Indian retail trade business would only be
taxable.
(RTP May ’21, MTP 2 Marks Oct ‘23)

(c)

Question & Answers

Question 1

Mr. Prashant (aged 35 years) is an Australian citizen who is settled in Australia

and visits India for 125 days in every financial year since past 11 years. During

the F.Y. 2022-23, he visited India for a total period of 200 days. The purpose of

his visit was to meet his family members who are settled in India and also for

managing his family members who are settled in India and also for managing his

business in Sri Lanka through his office in Chennai, India.

During the P.Y. 2022-23, he has the following incomes:

(A) Income from business in Australia controlled form Australia - ¥ 20,00,000

() Income from business in Sri Lanka controlled form Chennai - ¥ 16,00,000

(C) Short-term capital gains on sale of shares of an Indian company received in
Australia - ¥ 50,000. The shares were sold online from Australia.

(D) Income from agricultural land in Australia, received there and then brought
to India - ¥ 2,00,000
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Find out the residential status of Mr. Prashant and compute his total income
for Assessment Year 2023-24. (PYP 4 Marks May ‘23)
Answer 1
Determination of Residential Status of Mr. Prashant!
Mr. Prashant is an Australian citizen who comes on a visit to India for 125 days in every
financial year since the past 11 years. During the P.Y. 2022-23, he visited India for 200
days. Since he stayed in India for 182 days or more during the P.Y. 2022-23, he would
be resident in India for the A.Y. 2023-24.
An individual is said to be “Resident and ordinarily resident [ROR]” in India in any
previous year, if he satisfies both the following conditions:
e He is aresident in at least 2 out of 10 previous years preceding the relevant previous
year; and
e His stay in India in the last 7 years preceding the relevant previous year is 730 days
or more [Refer Note 1 below for alternate presentation)]
First condition
Residential status for P.Y.2021-22 (A.Y.2022-23) — Resident, since he has stayed in India
for 2 60 days (125 days) in the said P.Y. and > 365 days ( 500 days, being 125 days x
4) in the four immediately preceding PYs.
Residential status for P.Y.2020-21 (A.Y.2021-22) — Resident, since he has stayed in
India for = 60 days (125 days) in the said P.Y. and 2 365 days ( 500 days, being 125
days x 4) in the four immediately preceding PYs.
Therefore, he satisfies the first condition of being resident in India in at least 2 out of
10 previous years preceding the relevant P.Y.3
Second condition
Stay in India in 7 immediately preceding PYs = 7 x 125 days = 875 days > 730 days
Since both the conditions are satisfied, he is Resident and Ordinarily Resident (ROR).
In case of ROR, global income would be taxable in India. Accordingly, his total income
for A.Y. 2023-24 would as follows:
Computation of Total Income of Mr. Prashant for A.Y.2023-24

Particulars R
(i) Income from business in Australia 20,00,000
(ii) Income from business in Sri Lanka 16,00,000
(ii) | Short-term capital gains on sale of shares of an Indian 50,000
company
(iv) Income from agricultural land in Australia [would not be
exempt, since it is not from an agricultural land in India] 2,00,000
Total income 38,50,000

Notes - (1) Alternative manner of determination of whether Mr. Prashant is ROR/
RNOR - “An individual is said to be “Resident but not ordinarily resident [RNOR]” in
India in any previous year, if he satisfies any one of the following conditions:

e He is a non-resident in at least 9 out of 10 previous years preceding the relevant
previous year; or

e His stay in India in the last 7 years preceding the relevant previous year is 729 days
or less.

e Mr. Prashant does not satisfy either of the above conditions on account of being
resident in more than 1 year out of 10 years and stay in India for 875 days in the 7
years preceding the P.Y.2022-23. Hence, he is a Resident and Ordinarily Resident in
the P.Y.2022-23.
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(2) In the absence of information relating to whether Mr. Prashant is a person of
Indian origin, the above solution has been worked out assuming that Mr. Prashant
is not a person of Indian origin.

However, alternate assumption that Mr. Prashant is a person of Indian origin is also
possible since the purpose of his visit was to meet his family members who are settled
in India. Accordingly, if it is assumed that he is a person of Indian origin, then, for
determining whether he is resident in P.Y.2020-21 and P.Y.2021-22, information
relating to his total income (excluding income from foreign sources) for the said P.Y.s
is required for ascertaining whether the condition of 120 days in the relevant P.Y. +
365 days in the 4 immediately preceding P.Ys would be attracted in his case. This
information is not given in the question. Accordingly, assumptions would have to be
made relating to the applicability of this condition.

It may be noted that the condition of 120 days in the P.Y. + 365 days in the four
immediately preceding PYs for a PIO whose total income (other than income from
foreign sources) exceed % 15 lakhs for determination of reside